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This Question Paper consists of 34 questions and 8 printed pages.
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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as(those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 55/0S/2-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS
(214)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 HUe ] [ quifer : 100
Note : (1)  All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D)
and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.

fdor: (1) wf ueA sifEr €
(2) WAE U F ik ITh TEA <A T ¥ |
(3) IS U HH% 1 H 8 T, TH W § ¥R dahfedsh MK (A), (B), (O)
3R (D) fed ™ ¥ o8 & w Tt o1 weifuss Sfaa ©1 |t S g den sro
IR-YRAHI H IH I AT & qEA fafed |

1.  In the late 20t century economics is treated as : 1
(A) Science of welfare
(B) Science of scarcity and choice
(C) Science of growth and development
(D) Science of sustainable development

Sl wraTedt % 3fd § S7efoTe Y el S ©
INEEIRIMEIRERIE
B) QoW a1 = 1 fo
) Hafg e foehrd o foqm
D) vt foRm =l foaH

2. Which of the following is a feature of a capitalist economy ? 1
(A) Consumer’s Sovereignity prevails
(B) Collective ownership of means of production
(C) Reduction in inequalities of income and wealth
(D) Co-existence of public and private sectors

frafafad 9 § #F o dSierdt stefereren %t T fosma 8 2
(A) SR FYc el €

B) 3UIGH o HIEAl 1 WHfEh T

a1 3R wrfa i foogared #

AT STTeh QT TSi &sfehl oh1 TRt

@
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3.  Problem of Allocation of Resources deals with : 1
(A) What goods and services shall be produced ?
(B) How shall goods and services be produced ?
(C) For whom shall goods and services be produced ?
(D) All the above

GHIE] o 3Teies ! THE 39 aR § o1 B §
(A) for aqati oiR Jansii o1 SeureH fohan e 2
B) Sl SR Faned 1 Scured e foRam ST ?

(
(C) axgell iR Hanedi =1 cure foraeh fedr feman smaom 2
(D) g it
4. Maximum number of persons who can own partnership production units, is : 1
(A) 10 (B) 20 ©) 30 (D) 40
SAferal Ht sfercham W forr wanfic H WKt e 3T 8 Wahd! 8, Bt R
(A) 10 (B) 20 ©) 30 (D) 40
5.  Which is an example of ‘Collaboration” ? 1
(A) Johnson and Johnson (B) Airtel
(C) Maruti-Suzuki Ltd. (D) Life Insurance Corporation
T 9 ot Hedm H1 S8R €
(A) SFEF U0 SHEA (B) WA
(C) wrefd-gsfe! fd. (D) Siter sft\ frm
6.  The goods whose demand decreases when the income of the buyer increases are : 1
(A) Inferior goods (B) Normal goods
(C) Substitute goods (D) Complementary goods
3 Y fSTeh! |7 ST bt 31T slg T =l §, Bl ©
(A) frF= 9 (B) WM IET
(C) Il gy (D) T Y
7. Variable having a specific value, is called : 1
(A) Attribute (B) Continuous variable
(C) Discrete variable (D) None of the above
T =R e T fafe qod g1 ], Feetd
(A) T (B) fafess =R
©) fafssa= (D) W | e Tl
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8.  Act which provides a consumer all the support and guidance is called : 1
(A) Standard of Weights and Measures Act, 1976
(B) Prevention of Food Adulteration Act, 1954

(C) Essential Commodities Act, 1955

(D) Consumer Protection Act, 1986

T AfUfTom S ST S I TR a0 6 <9 Al ©, HEend § ¢
(A) R IR A9 A9 stfafm, 1976

(B) Wra Uerd fHamee fRivw sifuftad, 1954

(C) AfFamd agg Afufm, 1955

(D) e SX& SAfufE, 1986

9.  On the basis of your daily life experience give two examples of public goods being used 2
by you.

3T Sk e o T9d & STTYR W 39k GRT YA i ST aTell & Aresi-eh awgaii o
ISR S |

10. What is meant by a developed economy and a developing economy ? 2

famfaa srefegaen qen faemmasiial srefeqecen © 1 Ay § ?

11. Explain ‘product based” division of labour. 2
‘3T MR’ g9 a9 it AT i |

12. Complete the following table : 2
Units of Labour Total Product | Average Product | Marginal Product
1 10 - 10
2 30 15 -
3 54 - 24
4 - 21 30
Frefafea areft =61 qu S
gH i RIS e IS IS T 3eTe

1 10 - 10
2 30 15 -
3 54 - 24
4 - 21 30

13. Explain how does the change in Government’s policy affect the supply of a good. 2

TR Afifq H ufad fordt agg ot smyfd 1 8 guifad wa1 87 Twmed |
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14. Draw a demand curve with the help of the data given below : 2
Price of oranges (3) Quantity demanded of oranges
2 10
4 8
6 6
8 4
fAfafaad oTishel st Rl § | o5k JA=d ¢
Tl ! forrd (%) Had =i HiT T A
2 10
4 8
6 6
8 4
15. Explain the problem of “double coincidence of wants’ faced with the barter system of 2

exchange.

- fafTaa gomedt st * sTrerehdradl % Sl HANT i I’ ol FHET i AT hHifST |

16. Explain how primary data are collected with the help of “Indirect investigation method’. 2
‘Tycaet sTgEY fafy’ grn Wi skl 1 Hehol fohd YR foharm STt € 2 |emsd |

17. Give two causes of soil degradation. 2
fft o =R & 2 &R e

18. With the help of examples give two ways of becoming a “Green Consumer” in the 2
society.

TaTS H gRd Ut 81 & o3 SereTur-oht Werdl ¥ IS o alih SIS |

19. What role does Macroeconomics play in the decision making by the government ? 4

TEHR R 0T o & wofie stefemes i oo yfeht gt 7 2

20. Explain the problem of “allocation of resources” in a mixed economy. 4

Trfya stefcgazen O ' GoeAl o A6’ i GHE hl U |

21. Explain the role and importance of firms and industries in providing employment and 4
infrastructure for the development of the country.

U T TSR A SHIH T STk FoHT o forehtd § T qel SN <l YfHeh! 9o He i
AT HifST |
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What is meant by substitute goods and complementary goods ? Give one example of
each.

T aEIE e b a&g3il 9 = AU T2 I il Teh I ST |

Explain money as ‘a medium of exchange’ and ‘a measure of value.’

“faf o Hrem’ qen o A o ®9 H Y1 i AT i |

Suppose, you have to open a savings account in U Co Bank in your locality. Explain
how will you do so ?

T S, STIhT ST Tellh | J 1 Sk § Th =d Wl Qe 8 1 Frened o a3 @
fhd 9oR @iei ?

What is meant by central tendency ? Give two important precautions to be taken
while using arithmetic mean as a measure of central tendency.

Fer g @ o 19T 8 2 et W & O o &9 | THR A1eA 1 5 7S 5§ o
S aTelt ] Heerqul waetE S |

Describe any two specific areas of economics where the use of data is very important.

1efemre & W fordl <1 fordiw &3l a1 avi ifSTe ST stishs] o1 Wl STid Wewyu |

Calculate the arithmetic mean from the following data by the shortcut method :

<

No. of Students
20
10
70
60
40

fehel | oTe fafy gR1 AR w1ed st oA i
BT T HEA
20
10
70

60
40

RS INIECT)

|| =|of x| @ | s|w|lnr|o

N

=
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28. Explain how the frequent occurrence of famines had been the worst part of the British
rule in India.

IRA H IR-9R 3ThTe TS TS T o1 Todl 93§90 Y o1 ? AR Hifod |

29. Establish and explain the link between agriculture, industry and service sectors with
the help of a suitable example from real life.

R ST ¥ Teh ITYSK SQELUT i Ferdal § i, TN T Fal &5hl & ore Fea-e
T It |

30. Explain the ‘Consumer Redressal System’ in India.

qRA B * ST S0 YGfa’ ot A il |

31. Explain any four features of monopoly market.

TR STSIR ! fohgl IR fassaredi =i =ame shifse |

32. Give the factors that led to the decline of handicraft industry in India.

TH TR ey [Seh RO YR | T&Iehall SN i Iad gl |

33. Why did the government of India adopt five year plans to achieve development ?
Explain.

foormg 9T i o T8 YRd TR A 9=av g JISiedl hl 91 ST9AE1 2 Sl hifsu |

34. Mention the various kinds of knowledge required on ‘Consumer Awareness’ by the
consumer.

3 Tafiel YR 1 STHRIE! Al Seci@ hifsdl fSenT SUHTERT STEehdl o o H STTT
BT ATI9TF § |

-00o0-
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